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E 0.08 0.08 0.07

" 1.cm 0.17 0.16

S G 50cm 0.14 0.16
- i 0.09 0.09 0.09
E 0.09 0.09 0.09
N Tcm 0.2k 0.23 0.23
L G 50cm 0.24 0.23 0.24
- i 0.09 0.09 0.09
E 0.09 0.09 0.10
N Tcm 0.27 0.26 0.26
=\ 1R 50cm 0.27 0.26 0.26
- i 0.09 0.09 0.09
E 0.09 0.08 0.09
< 1cm 0.18 0.19 0.18
- TR 50cm 0.17 0.18 0.17
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” Tcm 0.18 0.20 0.19

< 4N i

FEV\]EF'IL;\‘&B *;ISE-IL:IA/J\%"—EE *XJ;: 50cm 0.18 0.17 0.18
(EBLLIBR7E) - B 0.07 0.08 0.07
= E 0.08 0.08 0.08
" 1.cm 0.18 0.18 0.17
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E 0.11 0.11 0.11
N Tcm 0.20 0.20 0.20
05 [\ G 50cm 0.20 0.21 0.20
- i 0.08 0.07 0.08
E 0.08 0.08 0.07
N Tcm 0.25 0.21 0.21
B\ B [~Soen 0.24 0.21 0.21
- i 0.08 0.08 0.07
E 0.09 0.08 0.07
< 1cm 0.15 0.15 0.15
]\ TR 50cm 0.14 0.15 0.14
- i 0.07 0.08 0.08
E 0.08 0.08 0.07
N Tcm 0.21 0.21 0.20
BTN, TR 50cm 0.20 0.20 0.19
- i 0.07 0.07 0.07
E 0.07 0.07 0.07
< 1cm 0.15 0.15 0.16
RV TR 50cm 0.15 0.14 0.16
- i 0.07 0.08 0.07
B 0.10 0.07 0.08
N Tcm 0.15 0.14 0.14
TIPSR 8 [\ B [~Soen 0.14 0.13 0.13
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[\ TR 50cm 0.14 0.14 0.14
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B 0.07 0.08 0.08




AR ERIERR (HI/\VFH)

(ER 2 558 BAIER]

BT uSv/h

N N HIEH
x g Lot ‘El g 15
oI NFR AEBS —3meE T 8208 | 88270
Tan 0.14 0.1 0.14
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Tom 0.13 0.1 0.15
- - I s 50cm 0.13 0.13 0.14
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& 0.09 0.10 0.09
Tom 0.23 0.21 0.23
= g 50n 0.22 0.23 0.21
EHENFR & 0.10 0.10 0.10
& 0.11 0.11 0.1
1cm 0.16 0.15 0.16
=maT =M S‘égm -5 b -5
& 0.08 0.06 0.07
Tom 0.12 0.12 0.12
e 50n 0.12 0.11 0.12
BHR/NFR & 0.06 0.06 0.07
& 0.07 0.07 0.07
Tom 0.14 0.1 0.14
- 50cm 0.15 0.14 0.15
ABNFR & 0.09 0.09 0.09
& 0.09 0.09 0.09
Tom 0.13 0.12 0.12
- 50cm 0.13 0.13 0.13
AHRE] ALENER & 0.08 0.08 0.08
& 0.09 0.09 0.08
Tom 0.21 0.21 0.22
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& 0.07 0.07 0.08
1cm 0.18 0.18 0.18
e 50n 0.17 0.21 0.19
RIRBE PR & 0.06 0.07 0.07
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Tom 0.18 0.20 0.18
i i 50n 0.18 0.20 0.19
RIRB=NFR & 0.06 0.06 0.06
s & 0.06 0.06 0.06
LARH] T 0.19 0.19 0.19
- 50n 0.20 0.19 0.19
RENFR & 0.06 0.07 0.07
& 0.06 0.07 0.07
Tom 0.16 0.1 0.15
= < 50cm 0.15 0.15 0.17
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KENFR & 0.07 0.07 0.08
& 0.08 0.07 0.09
Tom 0.22 0.22 0.22
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. & 0.07 0.07 0.07
=HREET Tan 0.27 0.28 0.27
N 50n 0.25 0.26 0.25
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IR & 0.1 0.11 0.1
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= E 0.09 0.09 0.09
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N Tcm 0.30 0.30 0.30
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= & 0.12 0.12 0.11
HFIEE] " Tcm 0.13 0.13 0.15
g 50 0.13 0.14 0.14
AAE/ R e - - :
= & 0.09 0.09 0.09
= E 0.09 0.09 0.09
N Tcm 0.23 0.23 0.23
R BE 5o 0.26 0.26 0.26
= & 0.08 0.08 0.08
= E 0.09 0.09 0.09
N Tcm 0.27 0.26 0.29
R\ B 5o 0.25 0.24 0.25
- - & 0.09 0.09 0.09
= E 0.09 0.09 0.10
n Tcm 0.20 0.21 0.21
Rz
- SR 50cm 0.19 0.21 0.19
= E 0.12 0.14 0.11
N Tcm 0.2k 0.23 0.23
BRG]\t el 0.24 0.24 0.22
- & 0.07 0.07 0.07
= & 0.07 0.07 0.07
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s & 0.09 0.08 0.09
sl Tan 011 0.11 0.12
PN 50cm 0.10 0.1 0.11
AR B 0.08 0.08 0.0
& 0.09 0.09 0.10
Tom 0.17 0.17 0.17
N o 50cm 0.75 0.16 0.15
RTBIFR & 0.09 0.09 0.09
e & 0.09 0.09 0.09
Gl Tan 0.13 0.13 0.13
e [\ 50cm 0.15 0.16 0.15
LFEBNFR & 0.09 0.09 0.09
& 0.09 0.08 0.09
Tom 0.17 0.17 0.17
. N 50cm 0.15 0.15 0.17
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& 0.07 0.07 0.07
Tom 0.17 0.1 0.16
JIUE 50cm 0.15 0.13 0.16
LU & 0.70 0.09 0.70
& 0.70 0.09 0.10
Tom 0.17 0.17 0.21
. 50cm 0.17 0.17 0.17
FER & 0.09 0.08 0.08
\ & 0.11 0.10 0.09
EAYE] Tan 0.14 0.12
PN O 50cm 0.12 0.12
aSRINFR & 0.08 0.08 0.08
& 0.08 0.08 0.08
1cm 0.15 0.16 0.15
- 50cm 0.13 0.14 0.14
HE IR & 0.07 0.08 0.07
& 0.07 0.08 0.07
1cm 0.11 0.12 0.12
e 50cm 011 0.11 0.1
LR IEER & 0.06 0.07 0.08
& 0.07 0.08 0.09
Tom 0.20 0.21 0.19
o 50cm 0.20 0.21 0.20
RER/NFR & 0.07 0.08 0.08
& 0.08 0.09 0.09
1cm 0.15 0.15 0.15
- 50cm 0.15 0.14 0.15
RARNFR & 0.08 0.08 0.08
& 0.08 0.08 0.08
PaERET Tan 0.24 0.22 0.24
- i 50n 0.22 0.22 0.23
=BTRNFR & 0.09 0.09 0.09
& 0.10 0.10 0.10
1cm 0.16 0.17 0.16
o 50cm 0.17 0.18 0.18
ARNFR & 0.09 0.09 0.09
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BEHRERERR (MI/ER) [FR; 2 5F 8 BilllERD]
BT uSv/h

N N AlEH
24 o ~E| ~E| =) 17
#h[X INFERR AIEERT | AES S SH6E 85200 SE7E
" Tcm 0.17 0.22 0.20
REE
e s 50cm 0.19 0.20 0.20
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= E 0.07 0.07 0.07
n Tcm 0.12 0.13 0.13
s\ G 50cm 0.11 0.12 0.12
= & 0.07 0.07 0.07
R T = & 0.07 0.07 0.07
n Tcm 0.14 0.14 0.13
TR 50 0.13 0
TR cm ; 14 0.13
= & 0.06 0.06 0.07
= E 0.06 0.08 0.08
n Tcm 0.17 0.17 0.17
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s o 50cm 0.16 0.16 0.16
BERIFR o & 0.09 0.09 0.08
= E 0.09 0.09 0.08
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N Tcm 0.11 0.11 0.11
G 50 0.10
T\ cm ; 0.11 0.11
- & 0.06 0.07 0.07
= E 0.06 0.07 0.07




